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HHHM ik - it = M Bk 4 (40m B 4 10,772
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RiE B KERCHERAEDE 1 9,961
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1) Riz B KERSHRKECERROTERE(IR) 1 9,397
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fRiR™ ik - it = M Bk 4 (40m B 2 5,386
RiE P KEREERIELS HERARS T B EE (38mik) 1 58,334
FRIR™ & 63,720
T ik - it = P Bk 4 (40m B 2 5,386
Fm Et 5,386
bt Riz B KERCHEREEDE 1 9,961
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BORTTRMAE RiE B KERGHKEHRLTEBECD-TE) 1 7,293
RiE B KERCHERAEDE 1 9,961
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RiE FH  KERCHERAEDE 1 9,636
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Riz B EERGLERERS 1 3,126
Il & 13,087
2Pk ik - it = P Bk 4 (40m B 2 5,386
B3 & 5,386
Hi i - THE R E (Hhigifh Sk R ER) 1 23,150
ST A 23,150
WNOLER i - it 2= P Bk 4 (40m B 2 5,386
WOLEHE & 5,386
FRES s ET ik - it = P Bk 4 (40m B 2 5,386
FRE BT & 5,386
MR A5 52,395
EmE B E7Er it - it = M Bk 4 (40m B 2 5,386
B E7RT & 5,386
BIR &% 5,386
BiRE HEM ik - it 2= P Bk 4 (40m B 1 2,693
RiE FH  KERSERIELSHERARS T B EE (30mik) 1 50,600
HEM & 53,293
LX) it - it = M Bk 4 (40m B 3 8,079
BHER & 8,079
S FHET i - it = P Bk 4 (40m B 1 2,693
ik - it = M Bk 4 (60m &) 1 4,080
SFAT 5 6,773
BiRR &5 68,145
FE LR L) RiE BH  KERGHKEBRCTEBHECD- 1) 1 7,472
RiE B KERCERCFEBROTBEEBE(TR) 1 13,525
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